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Question 1

Question Type: MultipleChoice

Where do you view merged dimensions?
Please choose the correct answer.

Response:

Options:

A- In the Report Map pane
B- In the Available Objects pane
C- In the Document Structure and Filters pane

D- In the Query panel

Answer:

B

Question 2




Question Type: MultipleChoice

Why would you need to change the data source for your query?
Please choose the correct answer.

Response:

Options:

A- To change the universe connection of your universe
B- To use the production universe instead of the test universe
C- To use different objects from the universe

D- To change the order of execution for existing queries

Answer:

B

Question 3

Question Type: MultipleChoice




Which method should you use to see report filters?
Please choose the correct answer.

Response:

Options:

A- Right-click the report and select 'Show Filter Pane’
B- On the toolbar, click the 'Show/Hide Filter Pane' button
C- In the Filters panel, enable the 'Show Report Filters' option

D- In InfoView Preferences, enable the 'Show Report Filters' option

Answer:

Question 4

Question Type: MultipleChoice




What is the default behavior when creating a report from two queries from the same universe?
Please choose the correct answer.

Response:

Options:

A- Result produces two table blocks.
B- Dimension objects are automatically merged.
C- Results are shown on two different report tabs.

D- Dimension objects are not automatically merged.

Answer:

B

Question 5

Question Type: MultipleChoice

Which two statements are true about the AND operator?



There are 2 correct answers to this question.

Response:

Options:

A- Used when any condition is met by two filters
B- Used when all conditions are met by two filters
C- Used when all conditions are met by more than two filters

D- Used when only one condition is met by any of the filters

Answer:

B, C

Question 6

Question Type: MultipleChoice

Which of the following is not a rule to apply on the report elements?

Please choose the correct answer.



Response:

Options:

A- Columns in vertical tables
B- Rows in horizontal tables
C- Cells in conditional tables

D- Cells in forms and cross tables

Answer:

C

Question 7

Question Type: MultipleChoice

You need to create a report displaying a year-to-date aggregation on sales revenue across all months. The report should be sectioned
on Region. Additionally, you would like to reset the running aggregation to restart for each Region. Which syntax should you use to
accomplish this task?



Please choose the correct answer.

Response:

Options:

A- =RunningSum([Sales Revenue], Region)
B- =RunningTotal([Sales Revenue], Region)
C- =RunningSum([Sales Revenue] ; ([Region)))

D- =RunningTotal([Sales Revenue], Reset[Region])

Answer:

C

Question 8

Question Type: MultipleChoice

In which two situations should you use sub-queries?

There are 2 correct answers to this question.



Response:

Options:

A- When the query filter involves values that are known
B- When the query filter involves values that are not known
C- When the query filter for the report involves a value that will change over time

D- When the query filter for the report involves a value that will never change over time

Answer:

B, C

Question 9

Question Type: MultipleChoice

Which of the following option is not a part of The Web Intelligence Query Process?
Please choose the correct answer.

Response:



Options:

A- Run the query
B- Launch panel to generate data
C- SQL is executed to extract data

D- Report is displayed

Answer:

B

Question 10

Question Type: MultipleChoice

You are using calculation contexts within an If() function. Which two are valid contexts for use in an If() function?
There are 2 correct answers to this question.

Response:



Options:

A-In Cell
B- In Row
C- In Block

D- In Report

Answer:

C D

Question 11

Question Type: MultipleChoice

Which function would you use to extract the word "casual” from the product name "casual pants" of the Product Name field?
Please choose the correct answer.

Response:

Options:




A- Left(5; [Product Name])
B- Left([Product Name]; 5)
C- Right((Product Name), 5)
D- Right(5, [Product Name])

Answer:

B

Question 12

Question Type: MultipleChoice

Which four authentication methods are available for Web intelligence Rich Client?
There are 4 correct answers to this question.

Response:

Options:




A-AD
B-NT

C- LDAP

D- Vintella
E- Kerberos

F- Enterprise

Answer:

A B CF
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